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énoncé

Calculer
1] —1 de 360 3] —7 de 360 5] —1 de 27 7] —6 de 27
1 e 3 5 7
4 6 € 3 ¢ 5 ¢
l3d 360 l2d 360 Eld 27 E7d 2
 — 4 = — —
1 e 5 e 1 e G e
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correction

1
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correction

1
1 360 90 x4
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correction

1
1 360 90 x4

La réponse est 90.
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correction
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correction

z de 360
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correction

3
Zde360
3 3x360 3x90x4
ZX?’GO_ 1 1 =3 x 90 = 270.
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correction

3
Zde360
3 3x360 3x90x4
ZX?’GO_ 1 1 =3 x 90 = 270.

La réponse est 270.
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correction

g de 360
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correction

7
gx360:7x6360:7><660><6:7x60:420.
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correction

g de 360

7 7x360 7x60x6
6 x 360 = 6 = G
La réponse est 420.

=7 x 60 = 420.
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correction

% de 360
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correction

2
gde360
§x360=2x5360=2><752><5=2><72=144.
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correction

2
gde360
§x360=2X360=2X752X5=2><72=144.

La réponse est 144,
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correction

1
d — de 2
I3 m
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correction

1
d — de 2
I3 m

1
—><27r:2—7r,
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correction

2 L, .
avec 3 fraction irréductible.
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correction

2 L, .
avec 3 fraction irréductible.

) 2w
La réponse est 3
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correction

1
— de 27
ﬂ4
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correction

1
— de 27
ﬂ4

1 1x2r 7
— X 27 = 25,
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correction

avec 3 fraction irréductible.
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correction

avec 3 fraction irréductible.

, T
La réponse est 5
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correction

l6d2
d — de 27
5
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correction

l6d2
d — de 27
5
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correction

l6d2
d — de 27
5

6><2 6 X 27 127
— I— = —,
5 5 5

12 L, .
avec = fraction irréductible.
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correction

l6d2
d — de 27
5

6><2 6 X 27 127
— I— = —,
5 5 5

12 L, .
avec — fraction irréductible.

. 127
La réponse est =
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correction

E7d2
— de 27
6
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correction

E7d 2

— de 427

6
7 TX2wr Tx2xmw TXmw
= X 21 = = = ,
6 6 2% 3 3
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correction

B — de 27
7 TX2wr Tx2xmw TXmw
= X 21 = = = ,
6 6 2% 3 3

7 L, .
avec 3 fraction irréductible.
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correction

B — de 27
7 TX2wr Tx2xmw TXmw
= X 21 = = = ,
6 6 2% 3 3

7 L, .
avec — fraction irréductible.

, ™
La réponse est 3
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